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1. Given AHAL with perpendicular bsectors § b, and s, complete the N ¥
following to show that ¢ b and m intersect in a point. (0.29)
a. The slope of TTA is 7+ What is the slope of line 1!
b. The midpoint of TTA is (p, §). Show that the equation of lne # is HOp.Q
y - -F-x +q -
The midpaint of FIL & (r + p. D). What i the equation of line m?
Show that lines 7 and m intersect at (r + I'-:IF + )
The slope of AT, is =~ What is the slope of ling 57
What is the midpoint of AT?
Show that the equation of line bisy = §x + g .l';.
Show that lines b and m intersect at (r + p, & + g).
Give the coordinates for the point of intersection of L b, and m.
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Complete Fxercises 2 and 3 without using any new varishbles

2 RHCPis a rhombus
a. Determine the coordinates of R
b. Determine the coordinates of H
<. Find the midpoint of T,
d. Find the slope of RH.

3. ADFS is a kite.
a. Determine the coordinates of &
b. Find the midpoint of A5,
<. Find the slope of A5,
d. Find the midpoint of TF.
. Find the slope of TVF,

4. Complete the coordinates for rectangle DICF. Then mse ¥
coordinate geometry to prove the following statement: The o H (22 200
dingonals of a rectangle are congruent (Theorem 6-11)
Given: rectangle DHCP
Prove: C = TP o0 5 5
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Geometry Chapter & Lesson 6-7 Practice




Practice 6-7 ,
Ta. § 1|J._yfmx+b;q=5(p}+b:b+q—‘%—".
y=§x+q——'§g‘- lcex=r+p 1d.y=§[r+p}
vg-fy=Frhra-Fy=F+q
intersection at (r + p, ':.;‘ro- +q) le.g 1 (rng)
1.y =mx + b;g=§(r) + b;b =g <3
y=hrt+q-5% thy=fr+p+q-F

¥ = ‘% + % + g — %2; y = %J + ¢ intersection at
(r+p %p +q)  Mi.(r +p,%p +q) 2a.(—2a0)
2b. (—a,b) 2c.(—£% 2.5

3a. (—4a,0)  3b.(-2¢,3a) 3c.3  3d. (¢, —a)
3e. % 4. The coordinates for D are (0,2b). The
coordinates for C are (2a, 0). Given these coordinates, the
lengths of DC and H P can be determined:

DC=V(2a - 002+ (0 — 2b)2 = Via® + 4b%
HP = V(0 - 202+ (0 — 2b)2 = Va2 + 4p2;
DC = HPsoDC = HP.
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